10 10 100 1000

1457

1457 =1*10° + 4*10° + 5*10' + 7*10°
=1*1000 + 4*100 + 5*10 + 7*1
=1000 + 400 + 50 + 7 =1457
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1 10 2 100 1000

1011

1011 =1*23 + 0%22 +1*2t +1%2°
= 1*1000 + 0*100 + 1*10 +1*1
=1000+0 +10+1 =1011

57 * 4763

57 * 4763

57 * 4763 = 57 * ( 4*10% + 7*102 + 6*10% + 3*10° )

=57 * 4*10% + 57 * 7*10% + 57 * 6*10' + 57 * 3*10°
=57%10° *4 + 57*102*7 + 57*10'*6 + 57*10° *3

= 57*1000 *4 + 57*100 *7 + 57*10 *6 + 57*1*3
=57000 =4 + 5700 *7 +570*6 + 57 *3

57000%a + 5700*h

57 *a +

*b



1101 * 0101

1101 * 0101 = 1101 *( 0*2% + 1*22 + (0*2! + 1*20)

= 1101 *0*2° + 1101 *1*2%2 + 1101 *0*2! + 1101 *1*2°
=1101*22*0 + 1101*22*1 + 1101*2'*0 + 1101*2° *1
=1101*1000 *0 + 1101*100 *1 + 1101*10*0 + 1101*1*1

=1101000 0 + 110100~*1 + 11010*0 + 1101 =1

1101000*a + 110100*b
1101 *a +

*b




1101000 *o

*0

1101
0101
1101
0lo1
1101
0101
1101
0101

3bit
0
2bit
1
1bit
0
Obit

1101000

110100

11010

1101
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